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(m) (m) (%o) (mg/L) (&) Cs—134 Cs—137
1| FEOU i X 4 ek SR R 2000m T =8 10A8H = 14.9 0.5 2. 30.3 2 L0 < <
T 13.9 32.2 10 4.8 <1 <1
o)1 etk e Bt | 08 | onsp | om sof 00 2. 50.6 5 2.4 a a
T 2.0 30. 7 5 3.0 <1 <1
S|MIIHBI S I h02000m 4T ZE ) opsp | o= 2.0 % 7. 31.9 ! 0.4 a a
T 19.0 32.7 5 0.9 <1 <1
N . . E3E 0.5 30. 6 1 0.6 <1 <1
4 9 1000m A5 3T 10H3H = 9.1 4.
JRETHT GR : FEFRE T Al e T 8.1 32.0 3 0.6 <1 <1
JRRTIX)  Hh S IR
5 K H 59 1000m e 3T =8 10A3H = 12.0 0.5 10. 31.8 < 0.2 < <
T 11.0 32.5 3 0.6 <1 <1
6 /NI 1000m e 3T =8 10A2H i 12.5 0.5 11. 319 < 0.1 <l <l
T 11.5 32.0 1 0.1 <1 <1
7 FH )1 1HK92000m s 3T =8 10A2H i 16. 2 0.5 9. 32.0 < 0.3 < <
T 15.2 32. 4 23 7.3 <1 <1
8 REJI 7K 1000m et 3T fg 10A9H i 11.8 lg‘g 4. 2(1)‘? 2 g‘i : :
PP E3E 0' 5 30. 8 3 1. 6 <1 <1
9 & ) 119 1000m {3 = 10A9H i 10. 2 : 3. : :
T 9.2 31.3 8 2.5 <1 <1
10 AF NI 1000m e 3T =8 104100 i 10. 6 0.5 4. 30.1 L 0.6 < <
T 9.6 31.1 2 0.9 <1 <1
11 7 FLJVRAT 114 1000m{<} 3T =8 104100 i 10.7 0.5 8. 30.9 2 0.3 <l <l
T 9.7 31.6 5 1.1 <1 <1
12 AR 14 1000m{<} 32 fg 104100 i 10.8 g‘ 2 6. 21 é i g‘ 2 : :
Vb S AL E3E 0' 5 27. 6 2 1. 3 <1 <1
13 B HN M9 1500m 3T = 107 18H = 17.7 : 3. : :
T 16.7 31.3 7 3.6 <1 <1
14| i EEE Ao 0omiE|— 208 | 10g18R | & 6.4 %0 3. 28.4 2 L.2 < <
T 15. 4 31.0 3 2.0 <1 <1
15| HHE S ek 0 1 559 1000m A< 3T =8 104100 i 17. 4 0.5 6. 30.4 2 0.8 < <
TE 16. 4 31.4 2 0.6 <1 <1
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L[ B DX S FIRM AR A 2000m i T 10H8H = 14.9 5 74.8 b7 <10 <10 -
o) R vk R I X 1 = o3 10H8H e 3.0 5 76.3 Tb <10 <10 -
3| FE R A X Hb S ek BB ##92000m At 3T 10A3H = 20.0 5 74.4 b <10 15 15
4 %g&ﬁﬁﬁ*ﬁ%ﬁﬁﬂﬁlﬁ) " 1)1 1000mfs 3T 10H3H 2 9.1 5 73.7 b <10 51 51
Slacmem: K FE 1306 1000m /< 3 1038 £ 12.0 5| 748 W <10 <10 -
6 N 59 1000mfs T 10H2H I 12.5 5 74.7 Tib <10 12 12
7 75 7)1 2000m ) 32 10H2H 5] 16. 2 5 70.7 12 10 140 150
8 o HEJ 159 1000mfs T 10H9H i3 11.8 7 74. 4 Tib <10 72 72
9 PRI HL i & )19 1000mA 3T 10A9H i 10.2 10 66. 0 b 20 340 360
10 AN 1000m e 3T 10H10H i, 10. 6 7 71.3 1% <10 100 100
11 e S TAT 11 {559 1000m A<t 3T 10A10H 5] 10. 7 7 73.2 1 <10 44 44
12 L N KA 1 {59 1000m 3 104 10H i 10.8 75.9 b <10 15 15
13 Vb S R B9 1500mfF U0 10/ 18H = 17.7 10 75.7 b <10 13 13
14]|/N 4% 1k PG 5% 2 55 2 D AL K400 m 13T 10H18H = 16. 4 38.5| L |k - 20 250 270
15|88 7 IR 1 P 179 1000m A 3T 10H10H i 17.4 70. 8 b <10 35 35
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